## Axial anomaly as a chiral anomaly

The axial anomaly (G ungauged) must be the same as  
the chiral anomaly for 
$$G_{tot} = U(1)_{\varsigma} \times G$$
 with  
Variation  $E_{tot} = (E, D)$   
background  $A_{tot} = (D, A)$ .  
Let us check if that is indeed the case.  
 $\Omega_{\varepsilon}^{S}[A] = \int \frac{-1}{4\pi^{2}} \in tr_{V}(F_{A} \wedge F_{A})$   
 $= \int \frac{-1}{4\pi^{2}} \in dtv_{V}(AdA + \frac{2}{3}A^{3})$   
 $\Omega_{(E,0)}^{tot}[0, A] = \int \frac{i}{24\pi^{2}} \left[ tr_{V} \left[ i \in d(AdA + \frac{1}{2}A^{3}) - tr_{V} \left[ (-i\epsilon) d(AdA + \frac{1}{2}A^{3}) \right] \right]$   
 $= \int \frac{-1}{12\pi^{2}} \in dtv_{V}(AdA + \frac{1}{2}A^{3})$   
They DO NOT match !

Note that 
$$W_{t,t}[A_{S}, A]$$
 is not invariant under  $G$ -gauge transform:  
 $a_{(0, 6)}^{tot}[A_{S}, A] = \int \frac{i}{24\pi i} \left\{ tv_{V} \left[ \mathcal{E} d\left[ (A+A_{S})d(A+A_{S}) + \frac{1}{2}(A+A_{S})^{3} \right] \right] \right\}$   
 $- tv_{V} \left[ \mathcal{E} d\left[ (A-A_{S})d(A-A_{S}) + \frac{1}{2}(A-A_{S})^{3} \right] \right] \right\}$   
 $= tv_{V} \left[ \mathcal{E} d\left[ (A-A_{S})d(A-A_{S}) + \frac{1}{2}(A-A_{S})^{3} \right] \right] \right\}$   
 $= \int \frac{i}{(2\pi^{2}} tv_{V} \left[ \mathcal{E} d\left( AdA_{S} + A_{S} = 0 \right) \right]$   
 $= \int \frac{i}{(2\pi^{2}} tv_{V} \left[ \mathcal{E} d\left( AdA_{S} + A_{S} dA + \frac{1}{2} A_{S} A^{2} \right) \right] \right] \neq 0.$   
However, this is the G-gauge variation of a local expression:  
 $a_{(0, 6)}[A_{S}, A] = \delta_{\mathcal{E}} \int \frac{i}{(2\pi^{2}} A_{S} tv_{V} \left( 2AdA + \frac{3}{2} A^{3} \right).$   
 $\left( \text{Exercise: Show this.} \right)$   
Adding the local counter term  
 $\Delta W_{tot}[A_{S}, A] = \int \frac{-i}{(2\pi^{2}} A_{S} tv_{V} \left( 2AdA + \frac{3}{2} A^{3} \right),$   
 $W_{tot}[A_{S}, A] = W_{tot}[A_{S}, A] + \Delta W_{tot}[A_{S}, A]$   
is invariant under G-gauge transformations.

Since G is going to be gauged, there is no choice but  
to do this modification.  
Now, let us see how 
$$W_{tot}[Ar, A]$$
 changes under the  
U(1)s transformations:  $d_{e}^{s}A_{s} = ide$ ,  $\delta_{e}^{s}A = o$ .  
 $\delta_{e}^{s}W_{int}[Ar, A]|_{A_{s}=o}$   
 $= a_{(e, o)}^{tot}[o, A] + \delta_{e}^{s} \Delta W_{tot}(Ar, A)|_{A_{s}=o}$   
 $= \int \frac{-i}{12\pi^{2}} \in dtr_{V}(AdA + \frac{1}{2}A^{3}) + \int \frac{-i}{12\pi^{2}} ide tr_{V}(2AdA + \frac{3}{2}A^{3})$   
 $-\int \frac{-i}{12\pi^{2}} \in dtr_{V}(2AdA + \frac{3}{2}A^{3})$   
 $= \int \frac{-i}{(2\pi^{2}} \in dtr_{V}(3AAA + 2A^{3})$   
 $= \int \frac{-i}{4\pi^{2}} \in dtr_{V}(AdA + \frac{3}{2}A^{3})$   
 $= a_{e}^{s}[A]$ . Match V